

Andhra Pradesh State Skill Development Corporation Department of Skills Development and Training (Government of Andhra Pradesh)



3rd Floor, Infosight Building, G&J Infra, Tadepalli, Guntur - 522502

G. Ganesh Kumar, IAS

MD and CEO

Rc. No. /11/2024/APSSDC/Skill Hubs/WO/State Target/2024-25 29/11/2024

To
The Principal,
Skill Hubs of Annexure 1 to 6

Dear Sir/Madam,

Sub: APSSDC -Work Order -Skill Hubs - Issuance of Work Order to implement skill trainings -State Target - Unemployed Youth - Reg.

Ref: Cancellation of Work Order vide Rc. No. /11/2024/APSSDC/Skill

Hubs/WO/State Target-/2024-25 Date: 15/11/2024.

In Pursuance to the above subject cited, it is pleased to inform you that Work Order for Skill Development program for Unemployed Youth of Andhra Pradesh is approved and the target allocated, course, location wise details are as follows.

SI no	Skill hub Name	Job role/QP/D uration	Target	Hours	Cost per candidate	Assessment Fee	Total Cost
1	Annexure- 1 to 6	Annexure- 1 to 6	30	Annexure- 1 to 6	Rs. 9540/-	Rs. 600/-	Rs. 3,04,200/ -

Responsibilities:

- Training Partner is responsible for candidates Discipline and Security and also guard against sexual harassment during the period of training and placement.
- II. Candidate's data and the placed data should be uploaded in the portal within stipulated time period.
- III. Training Partner has to ensure the quality of the Training Centre's as per the norms prescribed by PMKVY 4.0.
- IV.The training deliverables has to be as per the QPNOs developed by NSDC/SSC/NCVT.

- V. Training Partner has to capture the Bio-Metric Attendance/FRS in APSSDC Portal Naipunyam.ap.gov.in without fail.
- VI.In case of any issues like Climate, server, Portal while capturing the biometric attendance, the same shall be communicated to DSDO, H.O and Portal Team and get approvals for considering the Manual attendance for the Candidates or days on the issues occurred.

Notes:

Note 1: Batch Size should not exceed more than 30 candidates.

Note 2: The payments will be 3 trenches (30%, 40% and 30%) as per the

conditions laid below.

Note 3: The above fee is exclusive of GST

Payment Trenches:

1st Installment (30%) On Commencement of Training	On commencement of Training against validation of candidates, TP has to enter the candidate data in APSSDC Portal-Naipunyam.ap.gov.in Validity - a candidate should have 8 days of Bio-Metric/FRS/Manual attendance for the first 15 working days Documents to be Submitted: 1) Invoice 2) Candidates List, 3) Bio-Metric Attendance for 1 st 15 Days 4) Manual Attendance for 1 st 15 Days
2 nd Installment (40%) On Successful Completion of Certification	Candidate should have minimum 70% of biometric/FRS/Manual attendance to appear for the assessment. Candidates who are absent/failed for the assessment are eligible for re-assessments; the re-assessments shall be conducted within 1 month from the date of Assessment result. (Re-Assessment fee shall be borne by TP) The second tranche of 40 % will be calculated on candidates actually certified/Cleared the assessments. 1st installment paid amount to be deducted for the failed/dropped candidates in the 2nd installment. Documents to be Submitted: 1) Invoice 2) Candidates List, 3) Bio-Metric/FRS Attendance for total Course duration 4) Manual Attendance for total Course duration, 5) Assessment result sheet, 6) Assessment Attendance Sheet 7) Candidate Certificates.
3 rd Installment (30%) On Placement Verification	Placement to be provided within 3 months of completion of training and candidate has to join & retain in job for minimum 1 month. Placement Linked Training: - Training Provider shall be eligible for 100% payment if placement retention percentage is above 70% of the candidates certified with at least 50% minimum wage employment. - Training Provider will be paid on pro rata basis on

	achievement of 50-69% placement retention rate of those who have been certified with at least minimum 50% wage employment of the certified trainees. No payment if the placement retention rate percentage is below 50%. Self-employment Trainings: 30% of training fee will be paid on Pro-rata basis for distribution of Kits/Units, etc to the trainees. (or) TP shall be eligible for 100% of payment if unit grounding / Individual Enterprise takes place with minimum 50% of the certified batch. Documents to be Submitted: 1) Invoice 2) Candidates List, 3) Assessment result sheet, 4) Placement report/Self-employment with all details, 5) Pay slips for 3 Months/Self-employment declarations/Kits or Units received letters/Unit establishment proof
Assessment fee reimbursement (100%)	The assessments can be done through SSCs through SIP portal or through any affiliated assessment body recognized by NCVET/DGT/SSCs. The assessment fee shall be as per the guidelines issued by NCVET/DGT/NSDC/SSCs. TPs shall bear the cost and the same shall be reimbursed to TP upon submission of relevant documents. Documents to be Submitted: 1) Invoice 2) Assessment body Invoice, 3) Candidates List, 3) Assessment result sheet, 4) Assessment Attendance Sheet, 5) Payment Proof 6) Candidate Certificates.

Terms and Conditions:

- 1. APSSDC reserves the right to instruct your organization at any point of time during the tenure of project, to stop training under this program besides recommending for stopping the payment for those batches if any of the following are noticed:
- a. Malpractices, Wrong entry with regard to trainee attendance.
- b. Not providing Infrastructure as per the prescribed norms and guidelines.
- c. Misbehaviour with trainees.
- d. Giving false promises / statements to the trainees during mobilization, training and placement.
 - 2. Training Partner to Upload the Training Centers, batches and Aadhar enabled Students information in APSSDC Portal.
 - 3. The payment related documents (installment wise) to be submitted to respective DSDO, APSSDC for further processing.
 - 4. The payments will be released through CFMS after submission of relevant bills to the DSDO.
 - 5. The APSSDC reserves the right to change, amend, modify, suspend, continue or terminate all or any part of the work order, at any time without notice.
 - 6. The training provider is not allowed to Sub-contracting, sub-letting,

franchisee, arrangement of any kind for the targets allocated.

Validity of Work Order: The work order is valid for one year.

The target allocated (batches) shall commence before 31st March 2025.

Documents to be submitted to APSSDC:

- 1. Letter of Acceptance.
- 2. Office Address with contact person details.
- 3. Infrastructure available in the training Centre (as per specified course)
- 4. Bank details of the organization along with GST Number
- 5. Candidate's data base should be submitted within the inception period and should update the data in portal.
- 6. Data base of the candidates trained and Placed when desired.

Encl: Annexure 1 to 6: List of Skill Hubs with course details.

MD & CEO, APSSDC

Digitally Signed by G Ganesh Kumar I A S

Date: 29-11-2024 16:17:24

Reason: Approved

Copy to:

- 1. The CGM, Finance for information
- 2. The District Skill Development Office (DSDO) for necessary steps and further action.

5. by Criette name Assembly Scalin Mob Name Cape (February 1974) Section Jaboration QP Cade Name Target Cape (Amplitude) Continuous Continu		Anne	xure-1: APS	SDC-Skill Hubs-Work Orde	rs to Sk	ill Hubs in	ASR,Anakapalli,Anathapuram,Annamayya, Bapatla						
ASR Paper	S.No	District name		Skill Hub Name		Sector	Job role	QP Code	Hours	Target		Total Cost	
ASR Series Seri	1	ASR	Paderu		GPT	IT-ITES	· · · · · · · · · · · · · · · · · · ·	SSC/Q2212	440	30	9540	286200	
ANALYPIALIDA Analogatis Conforment Polypechnic College, Part Construction	2	ASR			GDC	IT-ITES		SSC/Q2212	360	30	9540	286200	
SANAGAPALLI Narispatnam Rebalas_Analapalli	3	ASR	Arakuvalley	Government ITI, Arakuvally	ITI	IT-ITES		SSC/Q2212	440	30	9540	286200	
AMAMAPHALI Rampinam Naripatam Comment	4	ANAKAPALLI	Anakapalli	, ,	GPT	IT-ITES		SSC/Q2212	440	30	9540	286200	
AlmANTHAPURA Raymatura Elamanchil Columnitaria Columnita	5	ANAKAPALLI	Narsipatnam		GDC	IT-ITES		SSC/Q2211	390	30	9540	286200	
ANAMAPPALL Payskaraopet Government TIT, Payskaraopet TIT TITES Denestro that Entry SSC/Q2112 440 30 9540 286200	6	ANAKAPALLI	Elamanchili	-	GDC	IT-ITES	· ·	SSC/Q0110	390	30	9540	286200	
ANAMAYALU Polyardaropeta Government Degree College, GDC Berland Security S	7	ANAKAPALLI	Madugula	-	GJC	Healthcare	Patient Relation Associate	HSS/Q6102	390	30	9540	286200	
NAMAMAYALL Chodavaram Chodavaram Chodavaram Chodavaram Chodavaram Chodavaram Chodavaram Chodavaram NAC Training Center, Makavarapalem NAC Apparel Sering machine operator AMAH/Q303 330 330 356,40 286,200	8	ANAKAPALLI	Payakaraopet	Government ITI, Payakaraopeta	ITI	IT-ITES		SSC/Q2212	440	30	9540	286200	
1 ANANTHAPURA Narpaparam NAL Framing Center, Makwarapatem NAL Apparet Natis Analysa An	9	ANAKAPALLI	Chodavaram		GDC		Assistant Beauty Therapist	BWS/Q0101	290	30	9540	286200	
1 NU Urban Government Polytechnic College, NU NANTHAPURA Rayadurg Government Polytechnic College, Nu NANTHAPURA Rayadurg	10	ANAKAPALLI	Narsipatnam	NAC Training Center, Makavarapalem	NAC	Apparel		AMH/Q0305	330	30	9540	286200	
NU Nayadurg Rayadurg Rayadurg Rayadurg Sevenment Polytechnic College, Narpala Singanamala Government Polytechnic College, Narpala Singanamala Government Polytechnic College, Narpala Singanamala Singanam	11			Government ITI(Boys), Ananthpur	ITI	Automotive		ASC/Q1401	376	30	9540	286200	
MU Singhamala Narpala NAC Training Center, Guntakal NAC Construction Assistant Surveyor CON/Q901 270 30 9540 286200	12		Rayadurg		GPT	BFSI	Account Excetuive	BSC/Q101	390	30	9540	286200	
Mul	13		Singanamala	, ,	GPT	IT-ITES	1	SSS/Q2212	390	30	9540	286200	
15 MU	14		Guntakal	NAC Training Center, Guntakal	NAC	Construction	Assistant Surveyor	CON/Q0901	270	30	9540	286200	
MJ Uravakonda Malu Solo 9540 286200 MANAMTAPURA Kalyanadurg Sovernment Folytechnic College, Pileru S.G. Government Degree College, Pileru Government Degree College, Pileru S.G. Government Degree College, Pileru Government Model Residential Polytechnic College, Madanapalle Polytechnic College, Majampeta Government Polytechnic College, Majampeta Government Polytechnic College, Rajampeta Government Degree College, Koduru GDC IT-ITES Junior Software Developer SSC/Q0508 390 Hrs 30 9540 286200 2	15		Tadipatri	, ,	GPT	IT-ITES		SSC/Q2210	390	30	9540	286200	
Mu	16		Uravakonda	, ,	GPT	Construction	Assistant Surveyor	CON/Q0901	270	30	9540	286200	
NAC I raining Center, Anantapur NAC Construction Assistant Surveyor CON/Qp91 270 30 9540 286200 19 ANNAMAYYA Thamballapalle Government ITI, Thamballapalli ITI construction construction Electrician-LV CON/Qb603 480 30 9540 286200 20 ANNAMAYYA Pileru S.G. Government Degree College, Pileru S.G. Government Degree College, Pileru S.G. Government Model Residential Polytechnic College, Madanapalle Government Polytechnic College, Madanapalle Residential Polytechnic College, Repair Residential Polytechnic College, Repair Residential Residential Polytechnic College, Repair Residential Polytechnic College, Repair Residential Residential Polytechnic College, Repair Residential Residential Polytechnic College, Repair Residential Polytechnic College, Repair Residential Polytechnic College, Repair Residential Residential Residential Polytechnic College, Repair Residential Residential Residential Residential Polytechnic College, Repair Residential Residential Residential Residential Residential Repair Residential Resi	17		Kalyandurg	, ,	GPT	BFSI	Account Executive	BSC/Q8101	390	30	9540	286200	
20 ANNAMAYYA Pileru S.G. Government Degree College, Pileru Government Model Residential Polytechnic College, Madanapalle Polytechnic College, Madanapalle Rajampeta Government Polytechnic College, Rajampeta Government Polytechnic College, Rajampeta Government Polytechnic College, Rayachoty Government Polytechnic College, Rayachoty Government Polytechnic College, Rayachoty Government Degree College, Roduru GDC IT-ITES Junior Software Developer SSC/Q0508 390 30 9540 286200 286200 27 ANNAMAYYA Rajampeta NAC Training Center, Rajampeta NAC Construction Assistant Electrician CoN/Q0602 390 30 9540 286200 286200 27 BAPATLA Vemuru Government Degree College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 286200 286200 286200 27 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 286200 29 BAPATLA Parchur Government Degree College B.A.R & T.A., Parchur Government Polytechnic College, AGDC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 286200 30 BAPATLA Addanki Government Polytechnic College, AGDC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 286200 30 9540 30 9540 286200 30 9540 30 9540 286200 30 9540 30 9540 286200 30 9540 30 9540 286200 30 9540 30 9540 286200 30 9540 30 9540 286200 30 9540 30 95	18		Rapthadu	NAC Training Center, Anantapur	NAC	Construction	Assistant Surveyor	CON/Q0901	270	30	9540	286200	
ANNAMAYYA Pileru Pileru GDC III-IIES Junior software Developer SSC/Q0508 390 30 9540 286200 ANNAMAYYA Madanapalle Polytechnic College, Madanapalle GPT III-ITES Web Developer SSC/Q0503 450 30 9540 286200 ANNAMAYYA Rajampeta Government Polytechnic College, Rajampeta Junior software Developer SSC/Q0508 390 30 9540 286200 ANNAMAYYA Rajampeta Government Degree College, Koduru GDC III-ITES Junior Software Developer SSC/Q0508 390 Hrs 30 9540 286200 ANNAMAYYA Rajampeta NAC Training Center, Rajampeta NAC Construction Assistant Electrician CON/Q0602 390 30 9540 286200 ANNAMAYYA Rajampeta NAC Training Center, Rajampeta NAC Construction Assistant Electrician CON/Q0602 390 30 9540 286200 BAPATLA Chirala Government Degree College(W), Chirala Government Degree College(W), Chirala Government Degree College, Vemuru GJC III-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 BAPATLA Repalle Sri ABR Government Degree College GDC III-ITES Junior Software Developer SSC/Q0508 450 30 9540 286200 BAPATLA Parchur Government Junior College, AAR & T.A, Parchur Government Polytechnic College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki RADATLA Rapatla RADATLA Rapatla KYR&MKR DEGREE COLLEGE, GDC III-ITES Domestic Data Entry Oparator SSC/Q2212 390 30 9540 286200	19	ANNAMAYYA	Thamballapalle	Government ITI, Thamballapalli	ITI	construction	construction Electrician-LV	CON/Q0603	480	30	9540	286200	
ANNAMAYYA Rajampeta Government Polytechnic College, Rajampeta IT-ITES Junior Software Developer SSC/Q0508 390 Hrs 30 9540 286200 SSC/Q0508 390 Hrs 30 9540 286200 SSC/Q0508 390 Hrs 30 9540 286200 SSC/Q0508 390 Mrs 30 9540 286200 SSC/Q0508 Mrs 30 954	20	ANNAMAYYA	Pileru		GDC	IT-ITes	Junior software Developer	SSC/Q0508	390	30	9540	286200	
Rajampeta Rajamp	21	ANNAMAYYA	Madanapalle		GPT	IT-ITeS	Web Developer	SSC/Q0503	450	30	9540	286200	
ANNAMAYYA Rayachoti Rayachoty GPI II-IIES Junior Software Developer SSC/QU508 390 Hrs 30 9540 286200 24 ANNAMAYYA Kodur Government Degree College, Koduru GDC IT-ITES Junior Software Developer SSC/QU508 390 30 9540 286200 25 ANNAMAYYA Rajampeta NAC Training Center, Rajampeta NAC Construction Assistant Electrician CON/Q0602 390 30 9540 286200 26 BAPATLA Chirala Government Degree College(W), Chirala Government Junior College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 27 BAPATLA Vemuru Government Junior College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 28 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITES Junior Software Developer SSC/Q0508 450 30 9540 286200 29 BAPATLA Parchur Government Junior College B.A.R & T.A., Parchur Government Polytechnic College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki SVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry Oparator SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry SSC/Q2212 390 30 9540 286200	22	ANNAMAYYA	Rajampeta	-	GPT	IT-ITes	Junior software Developer	SSC/Q0508	390	30	9540	286200	
25 ANNAMAYYA Rajampeta NAC Training Center, Rajampeta NAC Construction Assistant Electrician CON/Q0602 390 30 9540 286200 26 BAPATLA Chirala Government Degree College(W), Chirala Government Degree College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 27 BAPATLA Vemuru Government Junior College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 28 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITES Junior Software Developer SSC/Q0508 450 30 9540 286200 29 BAPATLA Parchur Government Junior College B.A.R & T.A., Parchur Government Polytechnic College, Addanki Government Polytechnic College, Addanki KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry Oparator SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry Oparator SSC/Q2212 390 30 9540 286200	23	ANNAMAYYA	Rayachoti	, ,	GPT	IT-ITES	Junior Software Developer	SSC/Q0508	390 Hrs	30	9540	286200	
BAPATLA Chirala Government Degree College(W), Chirala Government Degree College(W), Chirala Government Degree College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 27 BAPATLA Vemuru Government Junior College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 28 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITES Junior Software Developer SSC/Q0508 450 30 9540 286200 29 BAPATLA Parchur Government Junior College B.A.R & T.A., Parchur Government Degree College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry Oparator SSC/Q2212 390 30 9540 286200	24	ANNAMAYYA	Kodur	Government Degree College, Koduru	GDC	IT-ITES	Junior Software Developer	SSC/Q0508	390	30	9540	286200	
26 BAPATLA Chirala Chirala GDC IT-ITES Operator SSC/Q2212 390 30 9540 286200 27 BAPATLA Vemuru Government Junior College, Vemuru GJC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 28 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITES Junior Software Developer SSC/Q0508 450 30 9540 286200 29 BAPATLA Parchur Government Junior College B.A.R & T.A., Parchur Government Degree College GDC IT-ITES Domestic Data Entry Operator SSC/Q2212 440 30 9540 286200 30 BAPATLA Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry SSC/Q2212 390 30 9540 286200	25	ANNAMAYYA	Rajampeta	NAC Training Center, Rajampeta	NAC	Construction	Assistant Electrician	CON/Q0602	390	30	9540	286200	
BAPATLA Vemuru Government Junior College, Vemuru GJC IT-ITeS Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200 28 BAPATLA Repalle Sri ABR Government Degree College GDC IT-ITeS Junior Software Developer SSC/Q0508 450 30 9540 286200 29 BAPATLA Parchur Government Junior College B.A.R & T.A., Parchur Government Polytechnic College, Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla RAPATLA Bapatla KVR&MKR DEGREE COLLEGE, GDC IT-ITES Domestic Data Entry Operator SSC/Q2212 390 30 9540 286200	26			Government Degree College(W),		IT-ITeS	1	SSC/Q2212	390	30	9540	286200	
29 BAPATLA Parchur Government Junior College B.A.R & GJC IT-ITeS Domestic Data Entry Oparator SSC/Q2212 440 30 9540 286200 30 BAPATLA Addanki Government Polytechnic College, Addanki Government Polytechnic College, Addanki SSC/Q2212 390 30 9540 286200 31 BAPATLA BAPATL	27	BAPATLA	Vemuru	Government Junior College, Vemuru	GJC	IT-ITeS		SSC/Q2212	390	30	9540	286200	
T.A, Parchur T.	28	BAPATLA	Repalle	Sri ABR Government Degree College	GDC	IT-ITeS	Junior Software Developer	SSC/Q0508	450	30	9540	286200	
30 BAPATLA Addanki Addanki Oparator SSC/Q2212 390 30 9540 286200 31 BAPATLA Bapatla KVRthMKR DEGREE COLLEGE, GDC IT. ITes Domestic Data Entry SSC/02212 390 30 9540 286200	29	BAPATLA	Parchur	_	GJC	IT-ITeS		SSC/Q2212	440	30	9540	286200	
31 BADATIA Banatla KVR&MKR DEGREE COLLEGE, GDC IT-ITes Domestic Data Entry SSC /02212 390 30 9540 286200	30	BAPATLA	Addanki		GPT	IT-ITeS		SSC/Q2212	390	30	9540	286200	
	31	BAPATLA	Bapatla		GDC	IT-ITes	Domestic Data Entry	SSC/Q2212	390	30	9540	286200	

Digitally Signed by G MD & CEO, Ganesh Kumar I A S Date: 29-11-2024 16:05:00

Reason: Approved

APSSDC

		Annexure	-2: APSSDC-Skill Hubs-Wor	rk Orde	rs to Skill I	Hubs in Chittoor,EG,	Eluru,Gur	ntur,kak	inada		
S.No	District name	Assembly constituency	Skill Hub Name	Center Type	Sector	Job role	QP Code	Hours	Target	Cost per Candidate	Total Cost
1	CHITTOOR	Pungunur	Government ITI, Pungunur	ITI	construction	construction Electrician-LV	CON/Q0603	480	30	9540	286200
2	CHITTOOR	Palamaner	SVCR Degree College, Palamaner	GDC	IT-ITes	ASSOCIATE CUSTOMER SUPPORT	SSC/Q2202	330	30	9540	286200
3	CHITTOOR	Chittoor	Government ITI, Chittoor	ITI	Electronics	Solar Pannel installation Technician	ELE/Q5901	450	30	9540	286200
4	CHITTOOR	Kuppam	Dr Yc James Yen Government Polytechnic College, Kuppam	GPT	IT-ITes	Domestic Data Entry Operator	SSC/Q2212	440	30	9540	286200
5	CHITTOOR	Nagari	Government Degree College, Puttur	GDC	IT-ITeS	Domestic IT Help Desk Attendant	SSC/Q0110	390	30	9540	286200
6	CHITTOOR	Gangadhara Nellore	Government ITI(Girls), Karvetinagaram	ITI	IT-ITes	Domestic Data Entry Operator	SSC/Q2212	440	30	9540	286200
7	CHITTOOR	Puthalapattu	NAC Training Center, Iruvaram, Chittoor	NAC	Apperal	Sewing Machine operator knits	AMH/Q0301	310	30	9540	286200
8	EG	Rajahmundry Rural	Government ITI, Rajahmundry	ITI	Automotive	Electric Vehicle Maintenance Technician	ASC/Q6809	400	30	9540	286200
9	EG	Nidadavole	SVRK Government Degree College, Nidadavolu	GDC	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
10	EG	Kovvur	Government Degree College, Kovvur	GDC	Management	office Assistant	MEP/Q0202	270	30	9540	286200
11	EG	Anaparthy	APSWRS/JC, Laxminasarapuram	GJC	IT-ITES	Associate data entry operator	SSC/Q2215	210	30	9540	286200
12	EG	Rajanagaram	Skill Development Center, Rajanagaram	SDC	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212	440	30	9540	286200
13	EG	Gopalapuram (Sc)	Skill Development Center, Gopalapuram	SDC	IT-ITES	Associate Data Entry Operator	SSC/Q2215	210	30	9540	286200
14	EG	Rajahmundry Urban	NAC Training Center, Bommuru	NAC	Construction	Helper Electrician	CON/Q0601	270	30	9540	286200
15	ELURU	Nuzvid	Government ITI, Nuzvid	ITI	ELE	Electrical Technician	ELE/Q6301	420	30	9540	286200
16	ELURU	Eluru	Government ITI/DLTC, Eluru	ITI	IT-ITES	Associate data entry operator	SSC/Q2215	210	30	9540	286200
17	ELURU	Tadikelapudi	Mahila Pranganam,Tadikelapudi	Mahila Prangana m	Appeal	Sewing machine operator	AMH/Q0301	310	30	9540	286200
18	ELURU	Denduluru	Government ITI Industrial Estate, Satrampadu, Eluru	ITI	constraction	Assistant Electrician.	CSC/Q0202	390	30	9540	286200
19	ELURU	Unguturu	Sri Venkateswara Degree College, Bhimadolu	GDC	IT-ITes	Domestic Data Entry Operator	SSC/Q2212	440	30	9540	286200
20	ELURU	kaikaluru	Government Junior College, kaikaluru	GJC	IT-ITES	Associate Data Entry Operator	SSC/Q2215	210	30	9540	286200
21	ELURU	Polavaram	Government Junior College, Buttayagudem	GJC	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
22	ELURU	Chintalapudi	NAC Training Center, Jangareddygudem	NAC	construction	Assistant Plumbing general	General PSC/	300	30	9540	286200
23	GUNTUR	Guntur West	Government DLTC, Guntur	ITI	Plumbing	Plumber General	PSC/Q0104	450	30	9540	286200
24	GUNTUR	Chebrolu	Government Degree College, Chebrolu	GDC	IT-ITES	Associate Data Entry Operator	SSC/Q2215	210	30	9540	286200
25	GUNTUR	Tenali	Government ITI, Tenali	ITI	IT-ITES	Domestic IT Help Desk Attendant	SSC/Q0110	390	30	9540	286200
26	GUNTUR	Mangalagiri	Government Degree College, VTJM Degree College	GDC	IT-ITES	Associate data entry operator	SSC/Q2215	210	30	9540	286200
27	GUNTUR	Prathipadu (Sc)	MBTS Government Polytechnic College, Nallapadu	GPT	IT-ITES	Domestic Data Entry Oparator	SSC/Q2215	440	30	9540	286200
28	GUNTUR	Guntur East	NAC Training Center, Guntur	NAC	Construction	Assistant Surveyor	CON/Q0901	330	30	9540	286200
29	GUNTUR	Tadikonda (Sc)	NAC Training Center, Tulluru	NAC	Construction	Assistant Surveyor	CON/Q0901	270	30	9540	286200
30	GUNTUR	Tenali	NAC Training Center, Tenali	NAC	Construction	Assistant Electrician	CON/Q0602	390	30	9540	286200
31	KAKINADA	Kakinada Rural	Government ITI, Kakinada	ITI	ELECTRONICS	Assistant installation computing and Peripherals	ELE/Q4609	360	30	9540	286200
32	KAKINADA	Prathipadu	Government Junior College, Yeleswaram	GJC	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
33	KAKINADA	Pithapuram	Government Polytechnic College, Pithapuram	GPT	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
34	KAKINADA	Jaggampeta	Government Degree College, Jaggampeta	GDC	ELECTRONICS	ASSISTANT TECHNICIAN - HOME APPLAINCE	ELE/Q3120	210	30	9540	286200
35	KAKINADA	Tuni	Government Degree College, Tuni(A)	GDC	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
36	KAKINADA	Peddapuram	NAC Training Center, Samalkota	NAC	Construction	Assistant Electrician	CON/Q0602	390	30	9540	286200
			Government Polytechnic College For			1					

Digitally Signed by G
Ganesh Kumar I A S
Date: 29-11-2024 16:04:29

Reason: Approved

APSSDC

MD & CEO,

1 KONASEEMA Kothapeta V.K.V Government Degree College, Kothapeta Government Degree College, Kothapeta Government Degree College, Management Office Assistant Mandapeta Government Degree College, Mandapeta Government Degree College, Mandapeta Wellness Assistant Beauty Therapist Bigging College College College	QP Code MEP/Q0202	Hours 270	Target	Cost per Candidate	Total Cost
2 KONASEEMA Mandapeta Kothapeta Government Degree College, Mandapeta Government Degree College, Mandapeta Government Degree College Government Degree Government Degree College Government Degree Government Degree College Government Degree College Government Degree College Government Degree Government Degree College Government Degree Govern	MEP/Q0202	270			
Z KUNASELMA Mandapeta Mandapeta GDC Wellness Assistant Beauty Therapist B		270	30	9540	286200
3 KONASFFMA Gannavaram(Sc APSW Junior College College, GJC THSC front Office executive A	BWS/Q0101	290	30	9540	286200
P.Gannavaram	MEP/Q0202	400	30	9540	286200
4 KONASEEMA Mummidivaram AIMS College of Engineering, PVT THSC Front Office Executive T	THC/Q0109	400	30	9540	286200
5 KONASEEMA Razole Government Degree College, Razole GDC Construction electrician - LV	CON/Q0603	480	30	9540	286200
6 KONASEEMA Amalapuram Miriam Degree College, Amalapuram PVT IT-ITES web developer SS	SSC/Q0503	390	30	9540	286200
7 KONASEEMA Ramachandrapu ram Government Junior College, Ramachandrapuram GJC IT-ITES Office assistant M	MEP/Q0202	270	30	9540	286200
8 KRISHNA Avanigadda Government Degree College, GDC Beauty and Wellness Professional Makeup Artist B	BWS/Q0306	510	30	9540	286200
9 KRISHNA Gudivada KBR Government ITI, Gudivada ITI IT-ITES Web Developer SS	SC/Q0503	390	30	9540	286200
10 KRISHNA Gannavaram Government Polytechnic College, GANNAVARAM GOV	MEP/Q0202	270	30	9540	286200
11 KRISHNA Machilipatnam The Machilipatnam Imitation Jewellery Members Park Association MIJ Gem & Jewellery Wax Setter G	G&J/Q1701	180	30	9540	286200
12 KRISHNA penamaluru NAC Training Center, Vuyyuru NAC Apparel Sewing Machine Opertor-Knits	AMH/Q0305	340	30	9540	286200
13 KRISHNA Pamarru Rural Skill Development Centre, RSDC IT-ITES Domestic Data Entry Operator SS	SSC /Q2212	390	30	9540	286200
14 KRISHNA Pedana SBN GJ College, Pedana GJC Management Secretary M	MEP/Q0201	480	30	9540	286200
15 KURNOOL Manthralayam S.M.L Government Degree College, Yemmiganur GDC IT-ITES Domestic Data Entry Operator SS	SSC /Q2212	400	30	9540	286200
16 KURNOOL Kurnool Silver Jubilee Government Degree GDC IT-ITES Domestic Data Entry Operator SS	SSC /Q2212	400	30	9540	286200
17 KURNOOL Panyam NAC Training Center, KURNOOL NAC Construction Assistant Electrician CO	CON/Q0602	390	30	9540	286200
18 KURNOOL Pattikonda Government Degree College, Pattikonda Government Degree College, Pattikonda Government Degree College, GDC IT-ITES Domestic Data Entry Operator SS	SSC /Q2212	400	30	9540	286200
19 KURNOOL Yemmiganur Government Junior College, Yemmiganur Government Junior College, Yemmiganur Government Junior College, GJC IT-ITES Customer Care Executive Domestic Voice	SSC/Q2210	390	30	9540	286200
20 KURNOOL Adoni NAC Training Center, Adoni NAC Construction Assistant Electrician Construction Assistant Electrician	CON/Q0602	350390	30	9540	286200
Operator	SSC /Q2212	400	30	9540	286200
22 KURNOOL Kodumur Government Junior College, Kodumuru Government Junior College, GJC IT-ITeS Domestic Data Entry Operator SS	SSC/Q2212	440	30	9540	286200
23 NANDYAL Nandikotkur Government Degree College, Nandikotkur Government Degree College, Nandikotkur SS	SSC/Q0503	400	30	9540	286200
l echnician	ELE/Q4605	600	30	9540	286200
College, Nandyal	3SC/Q4101	480	30	9540	286200
26 NANDYAL Srisailam Government Degree College, Atmakur GDC IT-ITES Software Programmer SS	SSC/Q0510	480	30	9540	286200
27 NANDYAL Allagadda GTRM Government Degree College, GDC BFSI MIS Data Analyst BS	BSC/Q4101	480	30	9540	286200
28 NANDYAL Dhone NAC Training Center, Dhone NAC construction Assistant Surveyor Co	CON/Q0901	270	30	9540	286200
29 NTR Vijayawada Government Polytechnic College, GPT Media & East Vijayawada Social Media Executive M	MES/Q0702	510	30	9540	286200
30 NTR Jaggayyapeta Aided Degree College, Jaggayyapeta GDC IT-ITES Domestic Data Entry Operator SS	SSC/Q2212	440	30	9540	286200
31 NTR Mylavaram Dr LHR Government Degree College, Mylavaram Dr LHR Government Degree College, GDC IT-ITES Domestic Biometric data operator SS	SSC/Q2213	390	30	9540	286200
32 NTR Nandigama Government Polytechnic College for Womens, Nandigama Government Polytechnic College for GPT IT-ITES Domestic Biometric data operator	SSC/Q2213	390	30	9540	286200
i vinciis, italiuigania operator	SC /02242	440	30	9540	286200
Government Degree College Domestic Data Entry	SSC/Q2212	ļ		1	
33 NTR Tiruvuru Government Degree College, Tiruvuru Goperator SPR & CVR Government Degree	SSC/Q2212 SSC/Q0508	390	30	9540	286200

Digitally Signed by G Ganesh Kumar I A S

Date: 29-11-2024 16:03:57

Reason: Approved

APSSDC

MD & CEO,

	Annexure-4: APSSDC-Skill Hubs-Work Orders to Skill Hubs in Palnadu, Manyam, Prakasam, Nellore										
S.No	District name	Assembly constituency	Skill Hub Name	Center Type	Sector	Job role	QP Code	Hours	Target	Cost per Candidate	Total Cost
1	PALNADU	Vinukonda	SGK Government Degree College, Vinukonda	GDC	IT - ITeS	Domestic Data Entry Operator	SSC/Q2212	390	30	9540	286200
2	PALNADU	Macherla	SKBR Government Degree College, Macherla	GDC	IT - ITeS	Domestic IT Help Desk Attendant	SSC/Q0110	390	30	9540	286200
3	PALNADU	Gurajala	Government Junior College, Piduguralla	GJC	IT - ITeS	Domestic Data Entry Operator	SSC/Q2212	390	30	9540	286200
4	PALNADU	Sattenapalli	Government Junior College, Sattenapalli	GJC	IT-ITES	Customer Care Executive Domestic Voice	SSC/Q2210	390	30	9540	286200
5	PALNADU	Pedakurapadu	Government Polytechnic College, Krosuru	GPT	IT-ITES	Customer Care executive - Domestic Voice	SSC/Q2210	390	30	9540	286200
6	PALNADU	Chilakaluripet	Community Hall, Raganapalem	SDC	IT-ITES	Customer Care executive - Domestic Voice	SSC/Q2210	390	30	9540	286200
7	PALNADU	Narasaraopet	NAC Training center, Narasaraopeta	NAC	Construction	Assistant Electrician	CON/Q0602	390	30	9540	286200
8	PARVATHIPUR AM MANYAM	Kurupam	Government Polytechnic College, Glpuram	GPT	management	receptionist	SSC/Q0201		30	9540	286200
9	PARVATHIPUR AM MANYAM	Parvathipuram	Government Polytechnic College, Parvathipuram	GPT	IT -ITES	Domestic data entry operator	SSC/Q2212	440	30	9540	286200
10	PARVATHIPUR AM MANYAM	Palakonda	Government ITI, Palakonda	IΤΙ	Appeal	Sewing machine operator	AMH/Q0301	310	30	9540	286200
11	PARVATHIPUR AM MANYAM	Salur	Government Degree College, Salur	GDC	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212	390+60	30	9540	286200
12	PRAKASAM	Ongole	Government ITI(Girls), Ongole	ITI	Beauty and Wellness	Assistant Beauty Therapist	BWS/Q0101	450	30	9540	286200
13	PRAKASAM	Ongole	Government ITI(Boys), Ongole	ITI	IT-ITeS	Junior SoftWare Developer	SSC/Q0508	390	30	9540	286200
14	PRAKASAM	Santhanuthalap adu(Sc)	DMSVK(Mahila Pranganam)	Mahila Prangana m	Beauty and Wellness	Assistant Beauty Therapist	BWS/Q0101	450	30	9540	286200
15	PRAKASAM	Yerragondapale m	Government Degree College, Yerragondapalem	GDC	IT-ITeS	Associate Customer Care (Voice & Non-Voice)	SSC/Q2202	390	30	9540	286200
16	PRAKASAM	Darsi	Government Degree College, Darsi	GDC	BFSI	Account Excetuive	BSC/Q101	390	30	9540	286200
17	PRAKASAM	kondapi	Government Junior College, Kondepi	GJC	IT-ITeS	Domestic IT Helpdesk Attendant	SSC/Q0110	450	30	9540	286200
18	PRAKASAM	Markapuram	NAC Training Center, Markapuram	NAC	Plumbing	Assistant Plumber General	PSC/Q0102	300	30	9540	286200
19	PRAKASAM	Giddalur	Government Junior College, Cumbum	GJC	IT-ITES	Associate Customer Care (Voice & Non-Voice)	SSC/Q2202	390	30	9540	286200
20	PRAKASAM	Kanigiri	Government Degree College, Kanigiri	GDC	IT-ITeS	Associate Customer Care (Voice& Non_Voice)	1.SSC/Q2212	390	30	9540	286200
21	PRAKASAM	Ongole	NAC Training Center, Ongole	NAC	Plumbing	Assistant Plumber General	PSC/Q0102	300+60(OJT	30	9540	286200
22	Nellore	Nellore City	Government ITI(Boys), Nellore	ITI	IT-ITeS	Domestic Data Entry Operator	SSC/Q2212	440	30	9540	286200
23	Nellore	Kandukur	Government Polytechnic College, Kandukur	GPT	IT-ITeS	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200
24	Nellore	Kovur	Government Degree College, Kovur	GDC	IT-ITeS	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200
25	Nellore	Kavali	NAC Training Center, Kavali	NAC	Construction	Assistant surveyor	CON/Q0901	270	30	9540	286200
26	Nellore	Nellore Rural	Dk Government Degree College for women (A), Nellore	GDC	IT-Ites	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200
27	Nellore	Kavali	Vikrama Simhapuri University, Kavali	Universit y	IT -ITes	Domestic Data Entry Operator	SSC/Q2211	440	30	9540	286200
28	Nellore	Atmakur	Government Polytechnic College, Atmakur	GPT	IT -ITes	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200
29	Nellore	Udayagiri	MRR Government Degree College	GDC	IT-ITes	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200
30	Nellore	Nellore City	NAC Training Center, Nellore	NAC	Construction	Assistant Surveyor	CON/N0901	270	30	9540	286200
31	Nellore	Sarvepalli	Vikrama Simhapuri University, Nellore	Universit y	IT-ITes	Customer Care Executive Domestic Non-Voice	SSC/Q2211	390	30	9540	286200

Digitally Signed by G Ganesh Kumar I A S

MD & CEO,

Date: 29-11-2024 16:02:29

Reason: Approved APSSDC

	An	nexure-5: A	APSSDC-Skill Hubs-Work Or	ders to	Skill Hubs	in Satyasai,Srikakul	am,Tirupa	ati,Visal	khapatı	nam	
S.No	District name	Assembly constituency	Skill Hub Name	Center Type	Sector	Job role	QP Code	Hours	Target	Cost per Candidate	Total Cost
1	SATHYA SAI	Hindupur	Government Polytechnic College For Women, Hindupur	GPT	Beauty & Welness	Beauty Therapist	BWS/Q0102	390	30	9540	286200
2	SATHYA SAI	Kadiri	STSN Government Degree College	GDC	IT-ITES	Web Developer	SSC/Q0503	390	30	9540	286200
4	SATHYA SAI SATHYA SAI	Madakasira Puttaparthi	SYTR Government Degree College SSS Government Degree College, Bukkapatnam	GDC GDC	management ELECTRONIC	Receptionist CCTV Installation Technician	SSC/Q0201 ELE/N4609	300 390	30	9540 9540	286200 286200
5	SATHYA SAI	Penukonda	Sree Paritala Sree Ramulu Government Degree College	GDC	IT-ITES	Domestic Data Entry Operator	SSC/Q2212	450 Hrs	30	9540	286200
6	SATHYA SAI	Dharmavaram	Government Polytechnic College, Dhamavaram	GPT	Mangement	Office Operation Executive	MEP/Q0207	480	30	9540	286200
7	SATHYA SAI	Hindupur	NAC Training Center, Hindupur	NAC	Construction	Assistant Electrician	CON/Q0602	440	30	9540	286200
8	SRIKAKULAM	Srikakulam	Government ITI/DLTC, Srikakulam	ITI	IT-ITES	Domestic Data Entry Operator	SSC/Q2212	450	30	9540	286200
9	SRIKAKULAM	Etcherla	Government ITI For Women, Etcherla	ITI	Plumbing	Plumber General	PSC/Q0104	410	30	9540	286200
10	SRIKAKULAM	Amadalavalasa	Government Polytechnic College, Amadalavalasa	GPT	Eletronics	FIELD TECHNICIAN-AIR CONDITIONER	ELE/Q3102	600	30	9540	286200
11	SRIKAKULAM	Pathapatnam	Government Degree College, Pathapatnam	GDC	IT-ITES	domestic data entry operator	SSC/Q2212	450	30	9540	286200
12	SRIKAKULAM	Palasa	Dr V Kanithi's Government ITI, Palasa	ITI	Power	Electrician Domestic Solutions	PSS/Q6001	490	30	9540	286200
13	SRIKAKULAM	Tekkali	Government Degree College, Tekkali	GDC	THSC	Front Office Assistant	THC/Q0110	300	30	9540	286200
14	SRIKAKULAM	Narasannapeta	Government Degree College, Narasannapeta	GDC	THSC	Front Office Assistant	THC/Q0110	300	30	9540	286200
15	SRIKAKULAM	Ichchapuram	Government Degree College, Baruva	GDC	THSC	Front Office Assistant	THC/Q0110	300	30	9540	286200
16	TIRUPATI	Tirupati	SV Government Polytechnic College,Tirupati	GPT	Electronics	Assistant technician - Networking and storage	ELE/Q3121	210	30	9540	286200
17	TIRUPATI	Chandragiri	Government ITI, Chandragiri	ΙΤΙ	IT-ITeS	Software Developer-IT Services	SSC/Q0501	420	30	9540	286200
18	TIRUPATI	Sullurpet	Government ITI, Tada	ΙΤΙ	Capital Goods	Assistant Manual Metal Arc Welding/ Shielded Metal Arc Welding Welder	CSC/Q0202	330	30	9540	286200
19	TIRUPATI	Venkatagiri	Government ITI, Venkatagiri	ITI	Electronics	Electrical Technician	ELE/Q6301	420	30	9540	286200
20	TIRUPATI	Srikalahasti	SVA Government Degree College, Srikalahasti	GDC	Apparel	Sewing machine operator	AMH/Q0301	310	30	9540	286200
21	TIRUPATI	Sathyavedu	Government Polytechnic College, Satyavedu	GPT	IT-ITeS	Domestic data entry operator	SSC/Q2212	390	30	9540	286200
22	TIRUPATI	Gudur	Government ITI/DLTC, Gudur	ITI	Capital Goods Skill Council	draghts man mechanical	CSC/Q0402	510	30	9540	286200
23	TIRUPATI	Tirupati	NAC Training Center, Tirupati	NAC	Construction	Assistant Electrician	CON/Q0602	390	30	9540	286200
24	VSKP	Bhimili	Government Polytechnic College For Women, Bheemili	GPT	Beauty & Wellness	Assistant Beauty Therapist	BWS/Q0101	290	30	9540	286200
25	VSKP	Visakhapatnam North	Government Polytechnic College,Visakhapatnam	GPT	Electronics	Drone Manufacturing and Assembly Technician	ELE/Q7307	390	30	9540	286200
26	VSKP	Visakhapatnam West	Government ITI(Old), Visakhapatnam	ITI	power	Lineman Distribution Technician	PSS/Q0103	570	30	9540	286200
27	VSKP	Pendurthi	Government Polytechnic College, Pendurthi	GPT	Capital Goods Skill Council	Assistant Manual Metal Arc Welding/ Shielded Metal Arc Welding Welder	CSC/Q0202	330	30	9540	286200
28	VSKP	Gajuwaka	Government ITI(Steel City), Gajuwaka	ITI	Electronics	Technical electrician	ELE/Q6301	270	30	9540	286200
29	VSKP	Visakhapatnam South	Visakha Women`S College, Visakhapatnam South	GDC	NIELET	Course on computer concepts	NIE/ITS/N020	90	30	9540	286200
30	VSKP	Visakhapatnam East	Dr V S Krishna Degree & PG College, Visakhapatnam East	GDC	MEPS	Office Assistant	MEP/Q0202	270	30	9540	286200
31	VSKP	Gajuwaka	NAC Training Center, Gajuwaka	NAC	Plumbing	Assistant Plumber General	PSC/Q0102	300	30	9540	286200
32	VSKP	Visakhapatnam West	NAC Training Center, Visakhapatnam	NAC	Construction	Assistant Electrician	CON/Q0602	360	30	9540	286200
	-	-					-			-	

Digitally Signed by G Ganesh Kumar I A S

MD & CEO,

Date: 29-11-2024 16:01:48

APSSDC

Reason: Approved

	Annexure-6: APSSDC-Skill Hubs-Work Orders to Skill Hubs in Vizianagaram, WG, YSR Kadapa										
S.No	District name	Assembly constituency	Skill Hub Name	Center Type	Sector	Job role	QP Code	Hours	Target	Cost per Candidate	Total Cost
1	VZM	Cheepurupalli	Government Degree College, Cheepurupalli	GDC	NIELET	Course on computer concepts	NIE/ITS/N020	90	30	9540	286200
2	VZM	Rajam	Government ITI, Rajam	ITI	IT-ITES	Junior Software Developer	SSC/Q0508	450	30	9540	286200
3	VZM	Srungavarapuko ta	Government Degree College, Srungavarapukota	GDC	IT- ITeS	Junior Software Developer	SSC/Q0508	450	30	9540	286200
4	VZM	Vizianagaram	Government ITI For Girls, Vizianagaram	ITI	IT-ITES	Domestic IT Help Desk Attendant	SSC/Q0110	450	30	9540	286200
5	VZM	Bobbili	Government ITI, Bobbili	ITI	Construction	Fabricator	CON/Q1206	450	30	9540	286200
6	VZM	Nellimarla	CKM Government Junior College, Nellimarla College	GJC	NIELET	Course on computer concepts	NIE/ITS/N020	90	30	9540	286200
7	VZM	Gajapathinagar am	Government Junior College, Gajapathinagaram	GJC	IT - ITES	Customer Care Executive Domestic - Non Voice	SSC/Q2215	390	30	9540	286200
8	VZM	Vizianagaram	NAC Training Center, BC-Colony- Vizianagaram	NAC	Construction	Plumber-General	PSC/Q0104	390	30	9540	286200
9	VZM	Vizianagaram	NAC Training Center, Tribal University Campus, Vizianagaram	NAC	Construction	Assistant Surveyor	CON/Q0901	270	30	9540	286200
10	WEST GODAVARI	Bhimavaram	Government ITI, Bhimavaram	ITI	Greenjobs	Solar PV Project Helper	SGJ/Q011	270	30	9540	286200
11	WEST GODAVARI	Achanta	Government ITI, Achanta	ΙΤΙ	Beauty & Wellness	Pedicurist And Manicurist	BEWS/Q0402	300	30	9540	286200
12	WEST GODAVARI	Tadepalligudem	Sri Vasavi Degree College, Tadepalligudem	PVT	MEPS/Q0202	Office Assistant	MEP/Q0202	270	30	9540	286200
13	WEST GODAVARI	Tanuku	S.C.I.M Government Degree College, Tanuku	GDC	Management	Office Assistant	MEP/Q0202	270	30	9540	286200
14	WEST GODAVARI	Palakollu	Sri DNR Government Degree College For Women, Palakol	GDC	Media & Entertainment	Graphics Design Associate	MES/Q0517	210	30	9540	286200
15	WEST GODAVARI	UNDI	V.V.Giri Government Degree College, Dumpagadapa	GDC	Management	office Assistant	MEP/Q0202	270	30	9540	286200
16	WEST GODAVARI	Narasapuram	Digital Community Centre, Pedamainavani Lanka	DCB / Lace Park	Management	Office Assistant	MEP/Q0202	390	30	9540	286200
17	YSR	Kadapa	Government ITI/DLTC, Kadapa	ITI	Power	Electrician Domestic solutions	PSS/Q6001	390	30	9540	286200
18	YSR	Pulivendula	Government ITI, Chakrayapeta	ITI	IT &ITeS	Domestic Data Entry Operator	SSC/Q2212	440 Hrs	30	9540	286200
19	YSR	Pulivendula	Government ITI, Vemula	ITI	IT- ITES	Domestic Data Entry Operator	SSC/Q2212	440 Hrs	30	9540	286200
20	YSR	Jammalamadug u	Government Polytechnic College, Jammalamadugu	GPT	IT-ITeS	Software Programmer	SSC/Q0510	390	30	9540	286200
21	YSR	Mydukur	Government Degree College, Mydukur	GDC	IT-ITeS	Software Programmer	SSC/Q0510	390	30	9540	286200
22	YSR	Proddatur	Government Polytechnic College, Proddatur	GPT	IT & ITeS	Customer care executive domestic non-voice	SSC/Q2211	390	30	9540	286200
23	YSR	Badvel	Government Degree College, Porumamilla	GDC	IT & ITeS	Web developer	SSC/Q0503	390	30	9540	286200
24	YSR	Kamalapuram	Government Polytechnic College, Kamalapuram	GPT	IT&ITeS	Associate Customer care executive(Voice & Non-Voice)	SSC/QP2202	310	30	9540	286200
25	YSR	Jammalamadug u	NAC Training Center, Jammalamadugu	NAC	Electronics	Assistant Technician - CCTV	ELE/Q3122	210	30	9540	286200

Digitally Signed by G MD & CEO, Ganesh Kumar I A S

Date: 29-11-2024 15:54:55 Reason: Approved